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After the exclusion for unsuccessfull block,
when a group reached number of 21,

patients assi gned to that group with dice

randomisation were not included. Thus, all
groups have equal number of patients.
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Figure 1: Flow Diagram




Oxford Scale for Manual Muscle Test

. No muscle activation

* Trace muscle activation, such as a twitch, without achieving full range of motion

Muscle activation with gravity eliminated, achieving full range of motion

Muscle activation against gravity, full range of motion

Muscle activation against some resistance, full range of motion
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Muscle activation against examiner’s full resistance, full range of motion

Figure 2: Oxford Scale for Manual Muscle Test



